Efficiency vs P,

0.02
o
9.018F
2 -
D.016F
) F
D.014f
() C
0.012F
0.01F
0.008F
0.006F
0.004F
0.002F

o el il il

8 F

@ P f e
0.95F Fodofremerrre b

=
o@
N

1 10 . Gedf’

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixel CPENoMatR_step2_ttbar-phasel-newgeom

=0.05
] : : : : :
S S S S
2 : : : : :
E S e
o : : : : :
S R L S
@ : : : :

O R S R S
Y7L SR SR TR T N

0.02F o b H{
0,018 oo Fh L

0.015— ------ * ........ e ey
. '.':*"#&**.*f{é'*f*:*tww}f.

4

Ratio

B ER T

0.9

[y
TTTT[TTTT[TTTI[TTTT
+

i

Efficiency vs ¢

o0.02
) : : : : : : :
K il S
(8] . . . . . . .




	Contents
	Page 1


